Name

Addition Word Problems Score

WPA:11

126 new patients walked into an eye care hospital and 104 reviewed patients
also got an appointment. How many patients would be reviewed in all in the
hospital?

The Louisa ship can accomodate 296 twenty feet containers and 348 forty feet
containers. How many containers in all can the ship accomodate?

A train carried 998 passengers from station A to B. At station B, 348 new
passengers boarded the train. How many passengers in all travelled in the
train?

Tony and his wife Maria planted 231 and 349 apple trees in their orchard.
How many tress did they both plant together?
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Name

Addition Word Problems Score

Answer key WPA:11

126 new patients walked into an eye care hospital and 104 reviewed patients
also got an appointment. How many patients would be reviewed in all in the
hospital?

230 patients

The Louisa ship can accomodate 296 twenty feet containers and 348 forty feet
containers. How many containers in all can the ship accomodate?

644 containers

A train carried 998 passengers from station A to B. At station B, 348 new
passengers boarded the train. How many passengers in all travelled in the
train?

1346 passengers

Tony and his wife Maria planted 231 and 349 apple trees in their orchard.
How many tress did they both plant together?

580 plants
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